National Aquatic Services, Inc. PO Box 2168 Brentwood, CA 94513



Sales Quote Number:

CO 2012-271

Sales Quote Date:

Name / Address

Job Site

3/20/2013

Town of Discovery Bay 1800 Willow Lake Road Discovery Bay, CA 94505 Town of Discovery Bay 1800 Willow Lake Road Discovery Bay, CA 94505

Description	Qty	Rate	Quote Total
Installation of new swimming pool equipment. Filters, backwash valves, manifold piping, heaters, return piping, flow meter and Chemistry control system  The equipment will be supplied by another vendor.  - Demo out old filters, heater, pluming from the discharge side of the pumps to the return I (we will hall all of the old equipment away, we recycle anything that we can, this offsets so the dump fees)  - Drain the pool for cleaning and tile repairs  - we will clean the plaster with citric acid (environmentally friendly product)  - Set all of the new equipment in a service friendly location  - Run new plumbing from the pumps to the new filters, heaters and connect to the existing copper return (The plumbing will be done with sch. 80 PVC.)  - install the filter media  - install new flow meter and pressure gauges  - re-locate electrical to new heater locations  - demo out the degraded portion of the gas line, install new gas line from the elbow at the of the 2 new heaters  - install venting, this vent will run out the back of the equipment room with the assistance of powervent. (we will avoid the roof venting as the roof is rotten)  - installation of the chemistry control system  - install the 50gal acid tank  - install the chemical feed pumps  - Backwash the system  - balance the water chemistry  - calibrate the chemistry controller  - train the onsite staff on how to operate the pool.  While on site we will install ADA handicap lift that is to be provided by others.	me of 4"	14,750.00	14,750.00
Permits and fees are the responsibility of the owner. These can be provided on a time and materials basis.	Quote	Total	\$14,750.00
Please sign and return if approved.			
Name: Signature:	Da	ite:	

Phone #	E-mail	Fax#	Web Site
925-513-9025	accounting@naspools.com	925-513-4941	NASPools.com

Lincoln Equipment, Inc. 2051 Commerce Avenue Concord, CA 94520 Phone: 800-223-5450 Fax: 888-680-2825



## SALES QUOTE

Sales Quote Number: WQ61505 Sales Quote Date: 3/20/13

Page: 1

Sold To:

Town of Discovery Bay CSD 1800 Willow Lake Road Discovery Bay, CA 94505-9376 Ship To:

Town of Discovery Bay CSD 1800 Willow Lake Road Discovery Bay, CA 94505-9376

Ship Via Ship Method Sales Person UPS GRD

FOBO

Craig Powell/209/527-3566

Customer ID **Cust Phone** 

CT0085005 (925) 634-1131

**Cust Fax** 

Item No.	Description	Unit	Quantity	Unit Price	Total Price
17-080	Pentair TR 140C sand filter	EACH	3	\$1,094.00	\$3,282.00
17-191	Pentair 2" hi-flow valve, sand	EACH	3	\$121.00	\$363.00
01-407	50# #20 Silica Sand, 20+ bags	EACH	36	\$9.75	\$351.00
01-409	50# Pea Gravel, 1/8x1/4, 20+ bags	EACH	18	\$10.25	\$184.50
05-036	Chemtrol PC 2100 controller	EACH	1	\$2,400.00	\$2,400.00
12-175	LMI solution tank, 50 gallon	EACH	1	\$285.00	\$285.00
10-096	Stenner pump, 50 GPD, single, 3/8"	EACH	2	\$350.00	\$700.00
21-000	Raypak 399,000 BTU Milivolt ASME Heater	EACH	2	\$2,302.00	\$4,604.00
21-000	Power Vent Indoor	EACH	2	\$442.00	\$884.00
81-065	Aspen Aquatic Lift	EACH	1	\$3,291.50	\$3,291.50
81-050	Aspen/Freedom anchor kit	EACH	1	\$264.00	\$264.00

Lincoln Equipment, Inc. 2051 Commerce Avenue Concord, CA 94520 Phone: 800-223-5450

Fax: 888-680-2825



## SALES QUOTE

Sales Quote Number: WQ61505 Sales Quote Date: 3/20/13

Page: 2

Sold To:

Town of Discovery Bay CSD 1800 Willow Lake Road

Discovery Bay, CA 94505-9376

Ship To:

Town of Discovery Bay CSD 1800 Willow Lake Road

Discovery Bay, CA 94505-9376

Ship Via

**UPS GRD** 

Ship Method Sales Person **FOBO** 

Craig Powell/209/527-3566

Customer ID

CT0085005

**Cust Phone** 

(925) 634-1131

**Cust Fax** 

Item No. Description Unit

**Unit Price** 

**Total Price** 

**ESTIMATED Freight Estimate** 

Quantity \$1,425.00 \$1,425.00

THIS QUOTE DOES NOT INCLUDE SALES TAX. SALES TAX WILL BE COMPUTED, IF APPLICABLE, WHEN WE OPEN AN ACCOUNT FOR YOUR COMPANY AND CREATE AN ORDER FROM THIS QUOTE.

To approve or review this quote, please contact your sales rep at the number shown above. You can also phone us at: 800-223-5450

To expedite orders, please include Quote Number with purchase order. Orders placed after the expiration date may be re-quoted. Freight quotes good for 30 days.

Submitted By:

Accepted By: \_

Amount Subject to Sales Tax 0.00

**Amount Exempt** from Sales Tax 18,034.00

Subtotal: Invoice Discount: 18,034.00

**Total Sales Tax:** 

0.00 0.00

Total:

18,034.00

Lincoln Equipment, Inc. 2051 Commerce Avenue Concord, CA 94520 Phone: 800-223-5450 Fax: 888-680-2825



## SALES QUOTE

Sales Quote Number: WQ61516 Sales Quote Date: 3/18/13

Page: 1

Sold To:

Town of Discovery Bay CSD 1800 Willow Lake Road

Discovery Bay, CA 94505-9376

Ship To:

Town of Discovery Bay CSD 1800 Willow Lake Road

Discovery Bay, CA 94505-9376

Ship Via

**UPS GRD** 

Ship Method Sales Person **FOBO** 

Craig Powell/209/527-3566

**Customer ID** 

Cust Phone

CT0085005 (925) 634-1131

**Cust Fax** 

Item No.	Description	Unit	Quantity	Unit Price	Total Price
13-265	Pentair EQ pump, w/ strainer, 7 1/2 HP, 3 phase	EACH	1	\$4,264.00	\$4,264.00
13-450	Pentair Acu Drive XS (VFD). &1/2 HP , 3 Phase	EACH	1	\$2,525.00	\$2,525.00
NAS-LABO	R NAS-Labor, Replumb and install pump. Install VFD.		1	\$6,875.00	\$6,875.00
ESTIMATE	n Freight		1	\$1,035,00	\$1,035.00

THIS QUOTE DOES NOT INCLUDE SALES TAX. SALES TAX WILL BE COMPUTED, IF APPLICABLE, WHEN WE OPEN AN ACCOUNT FOR YOUR COMPANY AND CREATE AN ORDER FROM THIS QUOTE.

To approve or review this quote, please contact your sales rep at the number shown above. You can also phone us at: 800-223-5450

To expedite orders, please include Quote Number with purchase order. Orders placed after the expiration date may be re-quoted. Freight quotes good for 30 days.

Submitted By: \_\_\_\_\_

Accepted By: \_

14,699.00 Amount Subject to **Amount Exempt** Subtotal: from Sales Tax Invoice Discount: 0.00 Sales Tax 14,699.00 **Total Sales Tax:** 0.00 0.00

> 14,699.00 Total: